PARTING & GROOVING

Parting & Grooving Inserts Overview

Parting & Grooving Inserts
Parting & Grooving Holders



INDEX

U 7GTURN

Parting & Grooving
Parting & Grooving Overview

Parting & Groove Turn Grades

partingand  [INCET NN

M Stainless steel K Castiron

Grooving Grades [ I SN MO M0 M0 M40 KO K20 K30
¥6602G 602G
(YG602)
=
3
a PVD - TIAIN Universal grade for Parting & Groove Turn
a YG602G
§ « Ultra Dense PVD Coating with optimal thermal resistance & strength
= (YG602) « Sub-Micron substrate designed for demanding application
=) PLISER]  M20 - M40 « YG602G : First Choice for Low Cutting Speed, Soft and Sticky Material
m with Low Hardness (Gold Color)
« YG602 : First Choice for General Application (Violet Color)
PVD Parting & Grooving Grade for Stainless Steel
YG603 « Ultra high toughness substrate and strong adhesion
M30 - M50 « Excellent cutting edge strength and chipping resistance
« Stable machinability and tool life for stainless steel

Parting & Grooving Inserts

C—— ]

TD. Series

Inserts
TDN, TDP, TDY

2,3,4,5

Parting & Grooving Chipbreakers

& + For Parting & Deep Grooving
-P =3 - F/— « For Low Feed Rate and Difficult to Cut
Parting Materials
& Grooving
-N ] ,—\,ﬁ? - For External Parting And Grooving
+ For General Use
Y ' Eo% « For External Turning & Grooving
- - For Medium feed rate
’ E Q - For External, Internal turning and Grooving
GL E I ] « Face grooving and Face turning
Turning « For low feed rate
& Grooving Ly = iar - For External, Internal turning and Grooving
GM B ali l « First choice Face Grooving and Face turning
- « For Medium feed rate
Y New 4 _ 15
RG i ﬁr - For External, Internal turning and Grooving
et « Full radius Insert for Profiling

118

phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions

/G YG-1CO, LTD.



Recommended Cutting Conditions : p.222

INDEX

4GTURN

Parting & Grooving
Parting & Grooving Inserts
4
cw
| |
& | INSL |

* CDX : Cutting Depth Maximum

Partlng & Grooving

Fn CDX Fn

Series
TD* 2
TD*3
TD* 4
TD*5

@ : Stock item

Turning

INS
20
20
20
25

L

cw

2
3
4
5

O:Order made item

EDP 5200..

TDP 2002 0.04~0.12 0012 0036 0078
e o© °
TDP 3002 02 | 005~0.16 19 - - e I
. f eer— e o© °
—3 TDP 4003 03 | 0.06~0.18 19 - - 0023 0038 0080
-P Parting & Grooving *TDPR2002-6 0.2 | 0.03~0.08 19 - - 00.45 00.85
(Sharp edge) ° )
*TDPR3002-6 02 | 0.04~0.12 19 - - 08 09
3 *TDPL2002-6 0.2 | 0.03~008 19 - - 00.45 00.86
6° Angled Parting ) o
* - ~ - -
TDPL3002-6 02 | 0.04~0.12 19 00 0000
e O °
TDN 2002 0.2 | 0.05~0.18 19 - - 010 0035 0077
e o© °
TDN 3002 0.2 | 0.07~0.23 19 - - 0024 0025 0075
[ ] O [ ]
TDN 4003 0.3 | 0.08~0.28 19 - - 02 0037 0079
°
E4= TDN 5003 03 | 009~035 24 - - 02
N : *TDNR2002-6 02 | 0.04~0.14 19 - - s e
Parting & Grooving ° [
(General) *TDNR3002-6 0.2 | 0.06~0.18 19 - - 0040 sy
° °
*TDNL2002-6 02 | 0.04~0.14 19 - - oot o054
& *TDNL3002-6 02 | 0.06~0.18 19 - - ® °
% . . 0047 0088
} 6° Angled Parting [}
*TDNL4003-6 03 | 0.06~024 19 o006
TDY3E- 0.4 04 | 006~024 10 |0.12~022 05~24 00.27
E_a TDY4E- 0.4 04 | 008~027 10 |015~030 05~28 00'20
Turn Groove TDY5E - 0.4 04 | 008~023 10 |0.15~030 05~32 00.82
° °
TDY2E-03-GL 03 | 004~020 10 | 006~0.18 04~15 oz | om
° °
E TDY3E-03-GL 03 | 005~023 10 | 0.08~020 04~20 o o
AT G TDY4E-0.4-GL 04 | 006~026 10 | 010~025 05~23 M ¢
-Y 0112 0127
° °
TDY3E-0.4-GM 04 | 006~024 10 | 012~022 05~24 otis [ ot
° °
S W tDvar-04-GM 04| 008-027 10 | 015030 05-28 s Do
GM ° °
Y NEW 4 TDY4E-0.8-GM 0.8 | 010~027 10 | 0.18~032 08~28 e Bz
° °
TDY2E-1.0-RG 1.0 | 005~0.15 10 | 0.10~030 0.1~08 o | ons
P ° °
E TDY3E-1.5-RG 1.5 | 008~0.18 10 | 015~035 0.1~12 oios [ote
RG ° °
'NEW 4 TDY4E-2.0-RG 20 | 010~020 10 | 0.18~045 0.1~16 e oty

%G YG-1CO,, LTD.

phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions

119

DNINYNL

=
=]
=
o
0
[
§
=
=
)

ONITIIW

NOLLYWHOANI T¥DINH)AL ONITIIHA




“Z7GTURN

Parting & Grooving - Holder - External
External holders

DNINYNL

(7

: 1o

=
=
= LF
20
[}
=
§ C——:p. 119 Unit :mm
= EDP s7oo
Designation

YTER/L 1212-2T15 0025 0024 2 123

YTER/L 1616 -2T15 0027 0026 2 15 16 16 125 163
= YTER/L 2020 - 2T15 0030 0029 2 15 20 20 125 203
= TD.2..
= YTER/L 2020-2T20 0032 0031 2 20 20 20 125 203

YTER/L 2020 - 2T9 0028 - 2 9 20 20 125 203

YTER/L 2525-2T17 0034 0033 2 17 25 25 150 253

YTER/L 1212-3T15 0036 0035 3 15 12 12 100 124

YTER/L 1616-3T15 0038 0037 3 15 16 16 125 164
o
E YTER/L 2020 - 3T20 0040 0039 3 20 20 20 125 204
= TD3..
= YTER/L 2525 - 3T20 0044 0043 3 20 25 25 150 254

YTER/L 2525 - 3T9 0042 0041 3 9 25 25 150 254

] YTER/L 3232-3T20 0045 = 3 20 32 32 170 324

E YTER/L 2525 - 4T20 0047 0046 4 20 25 25 150 255 TDA4..
=
= P NEXT PAGE
=
S
=
=
o
=

Series __ Designation __Infomation _______ Swew ________ Ry Wenh |

) Description YAKV-02-M6x22 YABPL-01 YAAL-03-3
e EDP 18000195 18000058 18000061

YTER/L
3./ 45 Description Y2004-M8x1x20 - YAAL-05-4
o EDP 18000196 - 18000062

120 phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions

/G YG-1CO, LTD.



Parting & Grooving - Holder - External
External holders

T — -

=
LF %
5
C——:p. 119 Unit :mm é
S SRR ECET |
YTERL1212-2T15-C @ 0194 0171 2 123
YTERL1616-2T15-C @ 0197 0174 2 15 16 16 125 163
YTERIL2020-2T15-C @ 0201 0178 2 15 20 20 125 203
YTERL2020-2T17-C @ 0202 2 17 20 20 125 203 TD.2.
YTERIL2020-2T20-C @ 0203 0179 2 20 20 20 125 203
YTER/L2020-2T09-C @ 0204 0180 2 09 20 20 125 203
YTERLL2525-2T17-C @ 0208 0184 2 17 25 25 150 253
YTERL1212-3T15-C @ 0196 0173 3 15 12 12 100 124
YTERLL1616-3T15-C @ 0199 0176 3 15 16 16 125 164
YTERIL2020-3T20-C @ 0205 0181 3 20 20 20 125 204
YTERIL2020-3T25-C @ 0206 0182 3 25 20 20 125 204
YTERIL2020-3T30-C @ 0207 0183 3 30 20 20 125 204
YTERIL2525-3T22-C @ 0209 0185 3 2 25 25 150 254 103
YTERL2525-3T25-C @ 0210 0186 3 25 25 25 150 254
YTERLL2525-3T30-C @ 0211 0187 3 30 25 25 150 254
YTERIL2525-3T09-C @ 0212 0188 3 09 25 25 150 254
YTERLL3232-3T25-C @ 0217 0192 3 25 32 32 170 324
YTERIL2525-4T22-C @ 0213 0189 4 2 25 25 150 255
YTERL2525-4T25-C @ 0214 4 25 25 25 150 255 DA.
YTERIL2525-4T30-C @ 0215 0190 4 30 25 25 150 255
YTERIL2525-5T25-C @ 0216 0191 5 25 25 25 150 255 TDS5..

Series __ Designation __Infomation ______ Swew ________ Ry Wenh |

5 Description YAKV-02-M6X22 YABPL-01 YAAL-03-3
e EDP 18000195 18000058 18000061

YTER/L
3./ b5 Description Y2004-M8X1X20 - YAAL-05-4
o EDP 18000196 - 18000062

&G YG-1CO.,,LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions 121



DNINYNL

ONITIW DNIAOOYD '8 ONLLHYd

NOLLYIWHOANI T¥DINHDIL ONITIIYA

“Z7GTURN

Parting & Grooving - Holder - External
External holders- Face grooving

OHX F
: BN
‘ DAXIN
_ ‘ DAXX
; g
o |
LF
C——:p. 119 Unit :mm
S T R A
YTFR 25M-D034050-3T10A 0599 - 3 34 50 0 2 5 150 24
YTFR 25M-D044060-3T15A 0600 - 3 4 6 15 25 25 150 24 TD3..
YTFR 25M-D054085-3T15A 0601 - 3 54 85 15 25 25 150 24
YTFR 25M-D034050-4T15A 0602 - 4 4 50 15 25 25 150 236
YTFR 25M-D042060-4T15A 0603 - 4 2 60 15 25 25 150 236
YTFR 25M-D052072-4T20A 0604 - 4 52 72 20 25 25 | 150 236
YTFR 25M-D064120-4T20A 0605 - 4 64 120 20 25 25 150 236 TD4-
YTFR 25M-D112200-4T20A 0606 - 4 12 200 20 25 25 150 | 236
YTFR 25M-D200-4T20A 0607 - 4 200 - 20 25 25 150 | 236

Series Designation Infomation Screw Ring Wrench

Description SHB-M6x1.0x25L - HL-05
EDP 58000039 = 58000041

YTFR S

122 phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions 4G YG-1CO,, LTD.



“Z7GTURN

Parting & Grooving - Holder - External Prewd
External holders - Perpendicular Face grooving

OHX

uj:zlj .
DAXIN

BE 1 DAXX
7 @)
I3 ‘

[a) i
\ - |
[

=}
=
LF g
=
&
3
Y
C——:p. 119 Unit :mm é
=
SRR |
YTFPR25M - D034050 - 3T12A 0608 3
YTFPR25M - D044060 - 3T15A 0609 - 3 44 60 15 25 25 150 TD.3..
YTFPR25M - D054085 - 3T15A 0610 - 3 54 85 15 25 25 150
YTFPR25M - D034050 - 4T15A 0611 - 4 34 50 15 25 25 150
YTFPR25M - D042060 - 4T15A 0612 - 4 42 60 15 25 25 150
YTFPR25M - D052072 - 4T20A 0613 - 4 52 72 20 25 25 150 TDA..
YTFPR25M - D064120 - 4T20A 0614 - 4 64 120 20 25 25 150
YTFPR25M - D112200 - 4T20A 0615 - 4 112 200 20 25 25 150

B womston | e —

1691, Description SHB-M6x1.0x25L HL-05
EDP 58000039 - 58000041
Description SHB-M6x1.0x25L - HL-05
YTFPR 20~25-3T.
EDP 58000039 = 58000041
32-3T Description SHB-M6x1.0x25L - HL-05
) EDP 58000039 - 58000041

&G YG-1CO.,,LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions 123



“Z7GTURN

Parting & Grooving - Holder - External
External holders (Swiss Lathe)

T@ :

DNINYNL

=
=
3 LF
()
20
[}
=
§ C——:p. 119 Unit :mm
= EDP5700
Designation
YTER/L 1212-2T12-S 2 122
TD.2..
YTER/L 1616-2T16-S 0049 = 2 16 16 16 125 16.2
§ YTER/L1212-3T12-S 0051 0050 3 12 12 12 125 123
= TD.3..
a YTER/L1616-3T16-S 0053 0052 3 16 16 16 125 16.3
YTER/L1212-2T12-S-C @ 0193 0170 2 12 12 12 125 122
TD.2..
YTER/L1616-2T16-S-C @ 0198 0175 2 16 16 16 125 162
YTER/L1212-3T12-S-C @ 0195 0172 3 12 12 12 125 123
TD.3..
YTER/L1616-3T16-S-C @ 0200 0177 3 16 16 16 125 163
=
=
()
=
L
=
S
=
S
=
=
o
=

Series Designation Infomation Screw Ring Wrench

Description Y4015-M4x11 - Y80-T15
EDP 18000119 = 18000167

YTER/L «S

124 phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions 4G YG-1CO,, LTD.




Parting & Grooving - Holder - Internal

Internal holders with Coolant supply

DCON

DMIN

CDX

C——:p. 119 Unit :mm
R I I
YTIR/L16-2T8.5-C ® 0222 0218 2 16.5
YTIR/L20-3T06-C ® 0223 0219 3 25 6 20 183 40 170 16
YTIR/L25-3T06-C ® 0224 0220 3 25 6 25 23 40 200 185 TD.3..
YTIR/L32-3T05-C ® 0225 0221 3 31 5 32 30 60 250 21

o Y N N ——

1621, Description Y2503-M4X10 YAAL-03-3

EDP 18000197 = 18000061

203T. Description Y2504-M5X12 - YAAL-05-4

YTIRIL EDP 18000198 = 18000062
Description Y2504-M5X16 - YAAL-05-4

23T EDP 58000028 - 18000062

Description Y2004-M8X1X20 - YAAL-05-4

323 EDP 18000196 - 18000062

INDEX

4GTURN

%G YG-1CO,, LTD.

phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions

125

DNINYNL

=
=]
=
o
0
[
§
=
=
)

ONITIIW

NOLLYWHOANI T¥DINH)AL ONITIIHA




INDEX

. 7GTURN

Parting & Grooving - Holder

Blade

DNINYNL

2
=
=
I
20
=)
§
=
=
)

CDX
i S-g} Fig. 1
Q
~—
CDX
fe———
30

LF

=

Designation & EDP5700. CZCms

Ccw HF

WR

150°

C——:p. 119

Il N N =N =
25 25 150 24 TD.2. 1

Unit:mm

YGB32-2 0058 32 2
YGB32-3 0059 32 3 50 25 150 24 TD3.. 2
§ YGB32-2-C @ 0226 32 2 25 25 150 24 TD.2.. 1
E YGB32-3-C @ 0227 32 3 50 25 150 24 TD.3.. 2
o
=
=
)
—
&
=
=
=
$
s
=
S
=

Description

YALA-02

YGB.. .32,

EDP

58000027

126 phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions

/G YG-1CO, LTD.



Parting & Grooving - Holder

Blade Block

-/GTURN "

Jjﬁ "
] BN ol ol Tl il
Jil: D C
U
R U
B ET OAL
OAW
C——:p. 119 Unit:mm
Designation @ EDP5700.. (CZCws “n“mm
YGBU 20-32 0060 20 19 25 327 13 100 50 38
YGBU 25-32 0061 32 25 23 25 36.7 8 110 50 42
YGBU 32-32 0062 32 32 29 25 427 5 110 54 48
YGBU 20-32-C (] 0228 32 20 19 25 327 13 100 50 38
YGBU 25-32-C o 0229 32 25 23 25 36.7 8 110 50 42
YGBU 32-32-C ([ J 0230 32 32 29 25 427 5 110 54 48

Series __Designation ___infomation ____Screw Ry Wenh

20-32 Description YABK-03 Y2505-M6X30 YAAL-07-5

YGBU EDP 18000204 18000199 18000203
253232 Description YABK-04 Y2505-M6X30 YAAL-07-5

EDP 18000205 18000199 18000203

%G YG-1CO,, LTD.

phone:+82-32-526-0909, www.yg1.solutions, E-mail: yg1@yg1.solutions

127

INDEX

DNINYNL

=
=
=
o
0
)
§
=
=
)

ONITIIW

NOILYWHOANI T¥JINHIAL ONITTIYA




	INDEXABLE INSERTS metric
	New Product
	INDEX1
	INDEX2
	ISO TUNING
	External Turning Holder Code (Metric)
	Internal Turning Holder Code (Metric)
	Insert ISO Code System(turning)
	Grade Naming System
	Turning Grades Map
	Turning Grades 
	Turning Chipbreakers - Negative 
	Turning Chipbreakers - Positive
	Turning Inserts Overview
	Negative inserts
	T/N_1_CNMA / CNMG (80˚ Rhombic)
	T/N_2_CNMG (80˚ Rhombic)
	T/N_3_CNMG (80˚ Rhombic)
	T/N_4_CNGG / CNMG (80˚ Rhombic)
	T/N_5_CNMG / CNMM - Heavy Turning (80˚ Rhombic)

	T/N_6_DNMA / DNMG (55˚ Rhombic)
	T/N_7_DNMG (55˚ Rhombic)
	T/N_8_DNMG (55˚ Rhombic)
	T/N_9_DNGG / DNMG (55˚ Rhombic)
	T/N_10_DNMM - Heavy Turning (55˚ Rhombic)
	T/N_11_DNUX (55˚ Rhombic)
	T/N_12_KNUX (55˚- 2 Corners Rhombic)
	T/N_13_SNMA / SNMG (90˚ Square)
	T/N_14_SNMG (90˚ Square)
	T/N_15_SNMG (90˚ Square)
	T/N_16_SNMG (90˚ Square)
	T/N_17_SNMG / SNMM  - Heavy Turning (90˚ Square)
	T/N_18_TNMA / TNMG (60˚ Triangle)
	T/N_19_TNMG (60˚ Triangle)
	T/N_20_TNGG / TNMG (60˚ Triangle)
	T/N_21_TNUX (60˚ Triangle)
	T/N_22_VNMA / VNMG (35˚ Rhombic)
	T/N_23_VNMG (35˚ Rhombic)
	T/N_24_WNMA / WNMG (80˚ Trigon)
	T/N_25_WNMG (80˚ Trigon)
	T/N_26_WNMG (80˚ Trigon)
	T/N_27_WNGG / WNMG (80˚ Trigon)

	Positive Inserts
	T/P_1_CCGT / CCMT (80˚ Rhombic)
	T/P_2_CCGT / CCMT (80˚ Rhombic)
	T/P_3_DCGT / DCMT (55˚ Rhombic)
	T/P_4_DCGT / DCMT (55˚ Rhombic)
	T/P_5_RCMT (Round)
	T/P_6_RCMX - Heavy Turning (Round)
	T/P_7_SCGT / SCMT (Square)
	T/P_8_TCGT / TCMT (Triangle)
	T/P_9_TCMT (Triangle)
	T/P_10_VBGT / VBMT (35˚ Rhombic)
	T/P_11_VCGT / VCMT (35˚ Rhombic)

	External Holders Overview
	External Holder_Lever Lock type for CN** Insert
	External Holder_Lever Lock type for DN** Insert
	External Holder_Lever Lock type for SN** Insert
	External Holder_Lever Lock type for TN** Insert
	External Holder_Lever Lock type for WN** Insert
	External Holder_Double Clamp type for CN** Insert
	External Holder_Double Clamp type for DN** Insert
	External Holder_Top Clamp type for KN** Insert
	External Holder_Double Clamp type for SN** Insert
	External Holder_Double Clamp type for TN** Insert
	External Holder_Double Clamp type for VN** Insert
	External Holder_Double Clamp type for WN** Insert
	External Holder_Multi-Clamp type for TN** Insert
	External Holder_Multi-Clamp type for WN** Insert
	External Holder_Screw on type for CC** Insert
	External Holder_Screw on type for DC** Insert
	External Holder_Screw on type for RC** Insert
	External Holder_Screw on type for SC** Insert
	External Holder_Screw on type for TC** Insert
	External Holder_Screw on type for VB** Insert
	External Holder_Screw on type for VC** Insert
	External Holder

	Internal Holders Overview
	Internal Holder_Lever Lock type for CN** Insert
	Internal Holder_Lever Lock type for DN** Insert
	Internal Holder_Lever Lock type for SN** Insert
	Internal Holder_Lever Lock type for TN** Insert
	Internal Holder_Lever Lock type for WN** Insert
	Internal Holder_Double Clamp type for CN** Insert
	Internal Holder_Double Clamp type for DN** Insert
	Internal Holder_Double Clamp type for SN** Insert
	Internal Holder_Double Clamp type for TN** Insert
	Internal Holder_Double Clamp type for VN** Insert
	Internal Holder_Double Clamp type for WN** Insert
	Internal Holder_Multi-Clamp type for CN** /DN**Insert
	Internal Holder_Multi-Clamp type for TN** Insert
	Internal Holder_Multi-Clamp type for WN** Insert
	Internal Holder_Top Clamp type for KN** Insert
	Internal Holder_Screw on type for CC** Insert
	Internal Holder_Screw on type for CC** Insert2
	Internal Holder_Screw on type for DC** Insert
	Internal Holder_Screw on type for DC** Insert2
	Internal Holder_Screw on type for RC** Insert
	Internal Holder_Screw on type for SC** Insert
	Internal Holder_Screw on type for TC** Insert
	Internal Holder_Screw on type for VB** Insert
	Internal Holder_Screw on type for VC** Insert
	Internal Holder


	PARTING & GROOVING
	Parting & Grooving Overview
	Parting & Grooving Inserts
	Parting & Grooving - Holder 
	P/G_External holders
	P/G_External holders- Face grooving
	P/G_Internal holders - Perpendicular Face grooving
	P/G_External holders (Swiss Lathe)
	P/G_Internal holders with Coolant supply
	P/G_Blade / Blade Block


	Nanocut
	Code Keys - Boring bar & Holder
	Overview - Nanocut
	Boring bar - series
	Boring bar  - Inserts
	1_BP - Boring & Profiling
	Boring bar series

	2_BO - Boring with Chip Breaker
	3_BF - 90° Boring
	4_PR - Profiling
	5_GR - Grooving Round
	6_GS - Grooving Square
	7_FI - Face Grooving Internal / FE - Face Grooving External
	8_CH - Chamfering
	9_TH - Threading

	Boring bar  - Holder

	MILLING
	Code Keys - Milling Cutters
	Milling Insert ISO Code System
	Milling Grades and Chipbreakers
	Milling Chipbreakers

	Milling Inserts Overview
	Milling - Inserts
	Milling insert- ADKT / AOMT - Shoulder Milling Positive (2 Corner)
	Milling insert- APGT - Shoulder Milling Positive (2 Corner)
	Milling insert- APKT - Shoulder Milling Positive (2 Corner)
	Milling insert- APMT - Shoulder Milling Positive (2 Corner)
	Milling insert- ENMX - High Feed Negative (4 Corners)
	Milling insert- ODMT, ODMW - Face Milling Positive (8 Corners)
	Milling insert- OFER, OFMT - Face Milling Positive (8 Corners)
	Milling insert- ONMU / ONHU - Face Milling Negative (16 Corners)

	Milling insert- PNMU  - Face Milling Negative (10 Corners)
	Milling insert- RDKT / W- Profiling Positive (Round)
	Milling insert- RDMT / W- Profiling Positive (Round)
	Milling insert- RPMT / W - Profiling Positive (Round)
	Milling insert- SDKN / CN - Face Milling Positive (4 Corners ISO)
	Milling insert- SDMT / W - High Feed Positive (4 Corners)
	Milling insert- SEGT - Face Milling Positive (4 Corners)
	Milling insert- SEKT - Face Milling Positive (4 Corners)
	Milling insert- SEMT - Face Milling Positive (4 Corners)
	Milling insert- SEKR / N - Face Milling Positive (4 Corners ISO)
	Milling insert- SNMX - Face Milling Negative (8 Corners)
	Milling insert- SPKN / R / CN - Face Milling Positive (4 Corners ISO)

	Milling insert- SPMT - Universal Positive (4 Corners)
	Milling insert- SPUN - Universal Positive (4 Corners ISO)
	Milling insert- TPKT - Shoulder Milling Positive (3 Corner ISO)
	Milling insert- TPKN / KR / CN - Shoulder Milling Positive (3 Corner ISO)

	Milling insert- TPUN - Universal Positive (3 Corners ISO)
	Milling insert- WNEX - Shoulder Milling Negative (6 Corners)

	Milling Cutter Overview
	Milling - Cutter
	Cutters for APKT1003
	Cutters for APKT1604
	Cutters for ENMX06
	Cutters for ENMX09
	Cutters for ONMU
	Cutters for OFER
	Cutters for ODMT, ODMW
	Cutters for PNMU
	Cutters for RDKT, RDKW 0802 / 10T3
	Cutters for RDKT, RDKW 1204
	Cutters for SDMT, SDMW
	Cutters for SEKT, SEGT
	Cutters for SPKN, SPKR, SPCN
	Cutters for SNMX
	Cutters for TPKN, TPKR, TPCN, TPUN
	Cutters for TPKT1105
	Cutters for TPKT1605
	Cutters for WNEX
	Modular Shanks


	DRILLING
	Drilling Overview
	Drilling - Inserts
	Drilling X-Drill Inserts (SYMX) 
	Drilling Inserts (SPMX)
	Drilling Inserts (WCMX)

	X-Drill - Holder
	Drill Holder - X-Drill Holder (SYMX05) (DC 14~16)
	Drill Holder - X-Drill Holder (SYMX06) (DC 17~20)
	Drill Holder - X-Drill Holder (SYMX07) (DC 21~23)
	Drill Holder - X-Drill Holder (SYMX08) (DC 24~28)

	Drill Holder
	Drill Holder -SPMX 050204 Drill (DC 13~15)
	Drill Holder -SPMX 060204 Drill (DC 16~21)
	Drill Holder -SPMX 07T308 Drill (DC 22~27)
	Drill Holder -SPMX 090408 Drill (DC 28~33)
	Drill Holder -WCMX 030208 Drill (DC 16~19.5)
	Drill Holder -WCMX 040208 Drill (DC 20~23.5)
	Drill Holder -WCMX 050308 Drill (DC 24~29.5)
	Drill Holder -WCMX 06T308 Drill (DC 30~44.5)
	Drill Holder -WCMX 080412 Drill (DC 45~60)


	TECHNICAL INFORMATION
	ISO 13399 Terms
	Hardness Conversion Table
	Formulas
	Recommended cutting conditions
	Recommended cutting conditions2
	Material Groups
	Material Groups p
	Material Groups M
	Material Groups K
	Material Groups N
	Material Groups S
	Material Groups H

	Application Guide
	Application Guide -Steel Guide
	Application Guide -Stainless steel Guide
	Application Guide -Cast iron Guide
	Application Guide -Superalloys guide
	Application Guide  -Surface Roughness Guide
	Application Guide  -Trouble Shooting

	Comparison Chart - Turning Chipbreakers
	Comparison Chart - Turning Grades
	Comparison Chart - Milling Grades
	ISO <-> ANSI
	Search



	인덱스202: 
	인덱스203: 
	인덱스204: 
	단추 408: 
	페이지 8: 
	페이지 10: 

	단추 412: 
	페이지 8: 
	페이지 10: 

	단추 414: 
	페이지 8: 
	페이지 10: 

	단추 416: 
	페이지 8: 
	페이지 10: 

	단추 418: 
	페이지 8: 
	페이지 10: 

	단추 518: 
	페이지 8: 
	페이지 10: 

	단추 409: 
	페이지 9: 
	페이지 11: 

	단추 413: 
	페이지 9: 
	페이지 11: 

	단추 415: 
	페이지 9: 
	페이지 11: 

	단추 417: 
	페이지 9: 
	페이지 11: 

	단추 419: 
	페이지 9: 
	페이지 11: 

	단추 519: 
	페이지 9: 
	페이지 11: 

	인덱스194: 


